QUIZ 1 - AY4 Spring 2008 ........ YOUR NAME:
Possibly useful formulae: -
c= 186,000 miles/second = 3 x-10% meters/second.

Axf=v '

E=hxf
h = 6.63 x 10~ 3*meters?kg/second s

'1. KZSC broadcasts at 88.1 MHz (88.1 x 10° Hz). What is the wavelength that KSCS is broadcasting at?. Show
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2. What color wou.l-d a yellow banana slug appear if illuminated with white light? - - \
Nrind
| gt -
Snce whide \Vidar covfams e of 5 ubvelengthe
. ‘ /
and 2 yelow dpjeck veflects only ot e
Yellao  ubve lergtn  (2ueong lgut a4 otier
Wowe fenging) | e Yl slug WM afpear yellow

\9\— o 2 gvess
ot hov corveck o



3. Suppose the particles in the Earth’s atmosphere scatiered red lig_ilt effectively, but not blue light.
Which of the following would be true, which false? - ;

iThe daylight sky looking away from the Sun would be black T : ' l péj’ {'\0\/*

T lThe Sun would appear bluer than it does with our current atmosphere
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S 'F At sunset the Sun'’s apparent color would be no different than the noontime Sun
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4. The speed of light is ¢ = 186, 000 miles/second. Calculate the speed of light in units of miles/hour.
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"~ 5. What time does the first qua.rter moon rise? Draw a picture of the- relatlve pos:tlons of the Moon Sun and Earth
that demonstrates FOUT answer.
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6. In complete sentences, explain why we experience seasons. Draw a picture to support your answer.
n oA R T T g »_ & ; 2 -3 :

cﬂeés Avceck  sunlaiit %« mpre dvect funl yht

K s\novien o2 & LOVWBG/V C(%g
TN N : g
N-——-——-\ @emsgwm T\j«k 8%‘2 _7\ demisOhere
% c A
\
& g / . @\Lne ol SPf/\
§ sen’S &Ea«’\h S arpoF

(e Wove <cacons ZEE oxdve cr@_j%e
'!(b‘ W of ’\'W?- Eartns 3():\/\ %S Wi P weg-}gcze;F
10 O ovoital @)am aveunc) M_SUW.

When e TV aXfS 1S —HlJrec( & Way

) To & aecdv
Ex Q@V“\'alﬂc@)_ O\ e ! c{@f@gaecj

N e effechve  eviergh gev ’a/"e(
on Eavhtns Swhse &Kem e swi,evie iy

\/’e\fgé %\r e N\r\\ Wnrev:
s‘”"‘/"“'”‘”D O\ Wanser lpt for sttermet

'ZQ\S - 'VVI—@W‘!\W’VM :
“YiHof Bavdmiexy

Dy geg, Ar e |
wovie diveck S\N\\%?;Y\%r | B‘Q\’S L wgnion ot
SUA\FS\W“' =) =y \CSS _” I,E/SS (‘«Lﬂtm.j‘—lwé\%*’
ove anoay ey 9 sun Tk o\ dow Jite?
ArG> e ov " dfle verd B of

daplpht oy



